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16 100kN/mM##BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/MiZE#BZ 5 - -~ - -|3m#FB2 3 -~ - - -
ZThES 1.00/ 000 ~ 424 53.00] ZhList |0.00 ~ 424 227 1214 ZTh LSt 1.00] 500 ~ 6.79 53.00] #hbiist | 500 ~ 6.79] 227 1214
17 100kN/mM#%# 8% % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZTh LS 1.00/ 000 ~ 3.73 46.93| #hLlst 000 ~ 373 2.18 11.66 Zh LS 1.00] 500 ~ 520 46.93] Thuls | 500 ~ 520| 2.18 11.66
26 100kN/mM#%# 8% % -1 -~ - -|3mZzBz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS 1.00/ 000 ~ 6.12 76.80| #nList | 000 ~ 6.12] 2.03 10.87 Zh LS 1.00] 500 ~ 828 76.80| #hList | 500 ~ 828| 2.03 10.87
18 100kN/mM#%#BZ % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZThLS 1.00/ 000 ~ 6.08 76.18] #nList | 000 ~ 6.08] 2.04 10.90 Zh LS 1.00] 500 ~ 823 76.18] #h Lyt | 500 ~ 823| 2.04 10.90
3 100kN/mM#%# 8% % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZTh LS 1.00/ 000 ~ 7.11 90.36] Zh L5 |]0.00 ~ 7.11] 2.10 11.21 Zh s 1.00] 500 ~ 11.30 90.36] #h iyt | 500 ~ 11.30] 2.10 11.21
4 100kN/mM#%# 8% % -1 -~ - -|3mZzBz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS 1.00/ 0.00 ~ 6.60 83.24] #hLis | 000 ~ 6.60| 201 10.77 Zh s 1.00] 500 ~ 9.10 83.24| #hbist | 500 ~ 9.10| 201 10.77
19 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 557 69.53] Zn L4t | 0.00 ~ 557| 2.11 11.31 Zzh st 1.00f 500 ~ 7.92 69.53] Znlist | 500 ~ 7.92 211 11.31
20 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
Zh LS -l -~ - -| #hist -~ - - - Zh LS - -~ - -| Fhiist -~ - - -
7 100kN/mM##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
Zh LS -l -~ - -| =hist -~ - - - Zh LS - -~ - -| Fhiist -~ - - -
8 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
Zh LS 1.00] 000 ~ 6.17 77.48] ThLs 1000 ~ 6.17] 1.92 10.27 ZThst 1.00|] 500 ~ 7.60 7748 FhbList | 500 ~ 7.60| 1.92 10.27
97 100kN/m##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00] 0.00 ~ 6.18 77501 zh st | 000 ~ 6.18] 1.92 10.26 Zh st 1.00f 500 ~ 7.60 77501 Zh st | 5.00 ~ 7.60] 1.92 10.26
91 100kN/mM%#EZ % - -~ - -|3mEEZD -~ - - —| 100kN/ %8z 5 - -~ - -|3mZEiEZ S -~ - - -
Zhn Lot 1.00] 0.00 ~ 452 56.37| ZnList | 000 ~ 452| 1.96 10.51 Zzh st 1.00f 500 ~ 5.20 56.37| #n Ly | 500 ~ 520 1.96 10.51
9 100kN/mM%#EZ % - -~ - -|3mEEZD -~ - - —| 100kN/ %8z 5 - -~ - -|3mZEiEZ S -~ - - -
Zh LS -l -~ - -| #hist -~ - - - Zh LS - -~ - -| Fhiist -~ - - -
10 100kN/mM%#EZ % - -~ - -|3mEEZD -~ - - -| 100kN/ %8z 5 - -~ - -|3mZEiEZ S -~ - - -
Zhn Lot 1.00] 0.00 ~ 6.61 83.35| #nList | 000 ~ 6.61| 1.82 9.75 Zh Lot 1.00f 500 ~ 8.01 83.35| #nLis | 500 ~ 801 1.82 9.75
99 100kN/mM%#E% % - -~ - -|3mEEZD -~ - - -| 100kN/ %8z 5 - -~ - -|3mZEiEZ 5 -~ - - -
Lt 1.00{ 0.00 ~ 6.81 86.16] = Ll4t | 000 ~ 6.81| 1.82 9.73 Lt 1.00f 500 ~ 8.40 86.16] Zhn Ly | 500 ~ 840 1.82 9.7_3
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93 100kN/mM##BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/MiZE#BZ 5 - -~ - -|3m#FB2 3 -~ - - -
ZThES 1.00/ 000 ~ 459 5722 #hList | 000 ~ 459] 1.91 10.24 ZTh LSt 1.00] 500 ~ 510 57.22| #hiist | 500 ~ 5.10| 191 10.24
19 100kN/mM#%# 8% % 1.00/0.00 ~ 093 113.99|3mZE#ZB| - ~ - - —| 100kN/M%#8 2% 1.00| 1058 ~ 1347 113.99|3m%#Z % -~ - - -
ZTh LS 1.00]0.93 ~ 872 100.00] #hList [000 ~ 872 2.14 11.45 Zh s 1.00|] 5.00 ~ 1058 100.00] #hlust | 500 ~ 1347| 2.14 11.45
28 100kN/mM#%# 8% % 1.00/0.00 ~ 093 114.00|3m%E#Z3B| - ~ - - —| 100kN/M%#8 2% 1.00[ 10.71 ~ 13.46 114.00(3m%i#BZ 5 -~ - - -
ZhLS 1.00]0.93 ~ 872 100.00] #hList [000 ~ 872 2.28 12.23 Zh LS 1.00] 500 ~ 10.71 100.00f Zh it | 500 ~ 13.46| 228 12.23
13 100kN/mM#%#BZ % 1.00/0.00 ~ 093 114.00|3m%E#Z3B| - ~ - - —| 100kN/M%#8 2% 1.00[ 10.71 ~ 13.46 114.00(3m%i#B% % -~ - - -
ZThLS 1.00]0.93 ~ 872 100.00] #hList [000 ~ 872 2.28 12.23 Zh LS 1.00] 500 ~ 10.71 100.00| Zh it | 500 ~ 13.46| 228 12.23
04 100kN/mM#%# 8% % 1.00/ 000 ~ 1.32 120.05|3m#% x| - ~ - - —| 100kN/M%#8 2% 1.00| 10.63 ~ 14.80 120.05(3m%i#B% % -~ - - -
ZTh LS 1.00]1.32 ~ 9.11 100.00] #hList [000 ~ 9.11| 2.26 12.10 Zh s 1.00] 500 ~ 10.63 100.00f Zh it | 500 ~ 14.80| 2.26 12.10
o5 100kN/mM#%# 8% % -1 -~ - -|3mEB2Z| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS -1 -~ - -| =it -~ - - - Zh LS - -~ - -| Zhiist -~ - - -
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
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